Solve each of the equations for x
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Solve each equation for x
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 (Hint: Factor the left-hand side)

Solve each of the following quadratic equations by completing the square
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6. Find two consecutive positive integers such that the sum of their square is 85.

Use the quadratic formula to solve each of the following quadratic equations
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9. A garden area is 30ft long and 20ft wide. A path of uniform width is set around the edge. If the remaining garden area is 
[image: image8.wmf]2

400

ft

, what is the width of the path?
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